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1. (a) There are some blue counters, some green counters and some red counters in a bag.

The maths teacher says: “The ratio of the number blue counters to the number of
green counters to the number of red counters is 2 : 3 : 4 ”

What fraction of the counters are green?

(a) . . . . . . . . . . . . .

(b) In an cinema there are only premium seats and standard seats.

The ratio of the number of premium seats to the number of standard seats is 1 : 4

What fraction of the seats are premium seats?

(b) . . . . . . . . . . . . .

Answers

a)
3

9
or

1

3
b)

1

5
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